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Sample Questions

ARFEA ATHGE -
THIS QUESTION PAPER CANNOT BE TAKEN AWAY.

AFEFERE - V7EREEE - SRI2EERA TTREWEUNER -
DO NOT turn over this Question Paper without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.
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All answers should be written on the ANSWER SHEET.
FRER : T8 4 7y

Section A — each question carries 4 marks

1) 3K 123+456+789—159—-426—783 WA -
Find the value of 123 + 456 + 789 — 159 — 426 — 783.

2) EFFH2H1IHEZEH— ZFNW1IH 1 HEEHR?
If the 1% of February of a year is a Monday. Which day of the week is the 1% of January of the same year?

3) BEHI1Ix11=121 ~ 111x111=12321 > 3K11111x111118V{E -
Itis knownthat 11x11=121 and 111x111=12321. Find the valueof 11111x11111.

4) EFEEE 9 FRHSLAYIED L 1009 12 - 15 11008 - KFEHIE -
If a number is multiplied by 9 and add the product by 1009, the result is 11008. Find the number.

5)
6)
7)
8)
~ HHE5E ~
~ End of section A ~

AR AERER - Bt EERET R HEERM - WHECR R BEiT T8 SRt RS RSN -
BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.
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Section B — each question carries 5 marks

9) 3K2016x337-1016x337 HYH
Find the value of 2016x337-1016%x337.

10) /NI B R N 8 % 75 N AT L/ LSS 05, 14 /NGRS » P/ B — T i 26/ NI 5 2
The dining time of Mason each day is 8 times than that of Leo. If Mason’s dining time is 14 hours longer
than that of Leo. How many hours does Mason used for eating every day?

1) R4 x B=CH - (IR AWEH06 > BAE » CHEf24; BIEV 2> A8 Cd 50 -
fA-B E%/07
Given a multiplication 4 x B = C. If we increase A by 6 while B is unchanged, C is increased by 24.
If we decrease B by 2 while 4 is unchanged, C is decreased by 50. Find the value of 4 — B.

12) [ffiE A2 D EETTE ?

How many are rectangles are there in the figure below?

F 128
Question 12

13)
14)
15)
16)
~ LE5E ~

~ End of section B ~
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All answers should be written on the ANSWER SHEET.
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Section C — each question carries 7 marks

17)

18)

19)

20)

REJFAEE/MES 26 TT - T2 12 EHEY) -

A=Y N7/ T

) KREET3IUKIMEET SH -

i) REET 45K IMERE T 6K -

& R{EEL/IMES 42 7T B —RERIL—30UKE 2 78 > BE—303KEZ D ?

At the beginning, David has $26 more than that of Poppy, then they went shopping :

1)  David bought 3 bottles of coke, Poppy bought 5 bottles

i1) David bought 4 ice-cream bars , Poppy bought 6

In the end David has $42 more than that of Poppy. If an ice-cream bar is $2 more expensive than that of
coke, what is the price of a bottle of coke?

NSRRI R — R - KR LA ¢

i E S B ER =0 ~ b —(BeEEE T AR TRCER M - EMES —RET T
FHT 7T BREFHT 470 F=REPFR T 87T « = KIEHIGE EARI TN T 6 7T -
[t = RIEEERZ T 2%/ 088 2

Charles have some money. In each morning, Charles will do the following :

Separate the money into three piles of equal value, put one pile into the piggy bank, then put $2 into the
piggy bank. It is also known that in the afternoon he spent $7, $4 and $8 in the first, second and the third
day. At the night in the third day, he has $6 left. How much is saved in the piggy bank by then?

~ BET ~

~ End of Paper ~

AU AEREE - Bt RERETE FHLERfE > WHER BETBEGT 78 kTR RSN -

=R

BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



